

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Progress Estimate Number 9	Contract ID Prime Contrac	241115 ctor Hartma	5-G3A an and Company, Inc.		y Period Start y Period End	July 16, 2025 August 1, 202	25	Original Contract Amount Net Change Order Amount Current Contract Amount	\$6,166,000.00 \$0.00 \$6,166,000.00	
Approval Date									By User	
August 4, 2025			Generated and	Approv	ed (and should b	e considered D	Oraft)	at the Project Office Level by	gripkd	
August 4, 2025			Reviewed and Appro	oved (a	nd should be cor	nsidered Draft)	at the	Resident Engineer Level by	gripkd	
August 6, 2025				Review	ed and Approve	d at the Centra	l Offic	ce Controllers Office Level by	ramses1	
Original Completion	on Date	Current C	Completion Date Actual Completion I			n Date % of Current Contract Amount Complete				
May 22, 202	6	May	22, 2026		30.31%					
	Cont	tract Informa	tional Dates					Milestones		
Date Description	Original Com	pletion Date	Current Completion	Date		No Mileston	es Ex	ist for Contract		
Acceptance Date										
Awarded Date	December 4, 2	2024	December 4, 2024							
Letting Date	November 15,	2024	November 15, 2024							
Notice to Proceed Date	January 6, 202	25	January 6, 2025							
Work Began Date										

Contract Total Pag	y For Estimate No. 9			
		This Estimate	Previous	To Date
241115-G3A				
	Total Posted Items Pay	\$300,160.10	\$1,569,041.43	\$1,869,201.53
	Gross Item Adjustments	\$448.04	\$38,575.66	\$39,023.70
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$1,607,617.09	\$1,908,225.23
Contract Total Pay	yable This Estimate:	\$300.608.14		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J8S3238	0010	2013000	CLEARING AND GRUBBING	ACRE	\$16,800.000	0.250	\$4,200.00
	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$156,000.000	0.050	\$7,800.00
	0030	2035000	UNCLASSIFIED EXCAVATION	CUYD	\$5.700	2,320	\$13,224.00
	0040	2035500	EMBANKMENT IN PLACE	CUYD	\$8.900	1,594	\$14,186.60
	0050	2036000	COMPACTING EMBANKMENT	CUYD	\$5.800	1,160	\$6,728.00
	0060	2063000	CLASS 3 EXCAVATION	CUYD	\$33.000	4	\$132.00
	0090	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$13.800	397	\$5,478.60
	0100	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$7.800	2,794	\$21,793.20
	0120	4030306	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP250C MIX)	TONS	\$85.900	65	\$5,583.50
	0160	5021334	CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	SQYD	\$90.900	1,662	\$151,075.80
	0170	5021340	TYPE A2 SHOULDER	SQYD	\$34.000	193	\$6,562.00
	0180	5029905	MISC.TINTED TRUCK APRON CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	SQYD	\$153.500	51	\$7,828.50
	0260	6091052	CURB AND GUTTER TYPE B	LF	\$35.000	208	\$7,280.00
	0390	6143013	MANHOLE FRAME AND COVER, TYPE 3	EA	\$1,950.000	1	\$1,950.00
	0400	6143020	CURB INLET	EA	\$1,140.000	2	\$2,280.00
	0440	6161030	TYPE 3 MOVEABLE BARRICADE	EA	\$250.000	19	\$4,750.00
	0500	6191000	PAVEMENT EDGE TREATMENT	LF	\$3.800	633	\$2,405.40
	0580	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	LF	\$2.000	1,483	\$2,966.00
	0590	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	LF	\$2.000	2,158	\$4,316.00
	0600	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	LF	\$10.000	131	\$1,310.00
	0670	7261012	12 IN. PIPE GROUP A	LF	\$99.200	25	\$2,480.00

Revision 5/29/2025 Page 1 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Estimate	Progress Contract ID Estimate Number 9 Prime Contract			241115-G3A Hartman and Company, Inc.	Pay Period Start Pay Period End	July 16, 20 August 1,		Original Contra Net Change Ord Current Contra	der Amount	\$6,166,000.00 \$0.00 \$6,166,000.00	
Project Number	Line Number	Item Code		Item Descripti	ion		Unit	Unit Price	Current Installed Qty	Current Installed Amount	
J8S3238	0840	7311053	PRECAS	T CONCRETE DROP INLET 5 FT	X3FT		FT	\$1,100.000	4	\$4,400.00	
	1120	6085008	PAVED A	APPROACH, 8 IN.			SQYD	\$136.500	157	\$21,430.50	
Project J8	S3238 - To	tal								\$300,160.10	
Overall - T	otal									\$300,160.10	
Contract A	djustment	s This Estin	nate								

No Contract Adjustments Exist on Contract

Project lumber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3S3238	0030	UNCLASSIFIED EXCAVATION	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-67.48000	\$5.76	(\$389.01)
	0030	UNCLASSIFIED EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,320	\$0.06	\$150.34
	0040	EMBANKMENT IN PLACE	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	434	\$0.08	\$32.81
	0040	EMBANKMENT IN PLACE	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,160	\$0.08	\$87.70
	0050	COMPACTING EMBANKMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user brookb6 overridding Payment Estimate Exception 1 on the current Payment Estimate.	4,879.48000	\$5.80	\$28,300.98
	0050	COMPACTING EMBANKMENT	Material			-4,879.48000	\$5.80	(\$28,300.98)
	0090	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	Fuel Price	To correct AWP rounding			\$0.01
	0090	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	157	\$0.03	\$5.09
	0090	0090 TYPE 5 AGGREGATE FOR BASE (4 IN. THICK) Reference Item Price Adjustment Index Adjustment Type applied is FUEL			240	\$0.03	\$7.78	
	0100	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user brookb6 overridding Payment Estimate Exception 2 on the current Payment Estimate.	1,029.05200	\$7.80	\$8,026.61
	0100	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-1,029.05200	\$7.80	(\$8,026.61)
	0100	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,200	\$0.05	\$59.62
	0100	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,594	\$0.05	\$79.19
	0120	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP250C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC price adjustment for July 2025. Base index = 493.75, July index 513.75, for 65 tons SP250.			\$50.70
	0120	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP250C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	65	\$0.72	\$46.61
	0160	CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user brookb6 overridding Payment Estimate Exception 3 on the current Payment Estimate.	4,266.91000	\$90.90	\$387,862.12
	0160	CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-4,266.91000	\$90.90	(\$387,862.12)

Revision 5/29/2025 Page 2 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Estimat	gress e Num 9		1115-G3A artman and Co	ompany, Inc.		luly 16, 2025 August 1, 2025	Net Ch	al Contract An nange Order An nt Contract Ar	mount	\$6,166,000.00 \$0.00 \$6,166,000.00	
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comm	ents		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
8S3238	0160	CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Price		Reference Item Price Ad Adjustment Type applied			68	\$0.17	\$11.31	
	0160	CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Price		Reference Item Price Ad Adjustment Type applied			1,594	\$0.17	\$265.11	
	0170	TYPE A2 SHOULDER	Material		This adjustment offsets t generated Material Paym Adjustment (0016) due to overridding Payment Est the current Payment Esti	nent Estimate Ite o user brookb6 imate Exception	em	193	\$34.00	\$6,562.00	
	0170	TYPE A2 SHOULDER	Material					-193	\$34.00	(\$6,562.00)	
	0170	TYPE A2 SHOULDER	Price		Reference Item Price Ad Adjustment Type applied			193	\$0.11	\$20.43	
	0180 MISC.		Material		This adjustment offsets t generated Material Paym Adjustment (0017) due to overridding Payment Est the current Payment Esti	nent Estimate Ite o user brookb6 imate Exception	em	51	\$153.50	\$7,828.50	
	0180	MISC.	Material					-51	\$153.50	(\$7,828.50)	
	1120	PAVED APPROACH, 8 IN.	Material		This adjustment offsets t generated Material Paym Adjustment (0019) due to overridding Payment Est on the current Payment I	nent Estimate Ite o user brookb6 imate Exception	em	157	\$136.50	\$21,430.50	
	1120	PAVED APPROACH, 8 IN.	Material					-157	\$136.50	(\$21,430.50)	
	1120	PAVED APPROACH, 8 IN.	Price		Reference Item Price Ad Adjustment Type applied			157	\$0.13	\$20.35	
	1600	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	Material		This adjustment offsets to generated Material Paym Adjustment (0020) due to overridding Payment Est on the current Payment I	nent Estimate Ite o user brookb6 imate Exception	em	8	\$2,830.00	\$22,640.00	
	1600	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	Material					-8	\$2,830.00	(\$22,640.00)	
otal										\$448.04	

Revision 5/29/2025 Page 3 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Information	on	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J8S3238	FAS S604(64)	Roundabout	125	GREENE	at I-44 ramps and at Ches	stnut Street, add signal at Rout	e OO and add turn lane from Washin	gton Avenue to Route OO in Straffo
Totals I	by Job N	umbers						
J8S3238					This Estimate	Previous	To Date	
		d Item Pay Item Adjustm	ents		\$300,160.10 \$448.04	\$1,569,041.43 \$38.575.66	\$1,869,201.53 \$39.023.70	
	01033	,,	Gross	Item Pay	\$300,608.14	\$1,607,617.09	\$1,908,225.23	
	Incent	Í	Gross	Item Pay	\$300,608.14	\$1,607,617.09		
	Incent	Í	Gross	Item Pay	,		\$1,908,225.23 \$0.00 \$0.00	
	Incent Disino	ive		Item Pay	\$0.00	\$0.00	\$0.00	

Revision 5/29/2025 Page 4 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 2036000, Project Item Line Number 0050, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 3040506, Project Item Line Number 0100, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 5021334, Project Item Line Number 0160, Material Set 502133496, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action 0501CCPAQCQA 10 1/2 in. is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 5021334, Project Item Line Number 0160, Material Set 502133496, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 5021334, Project Item Line Number 0160, Material Set 502133496, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 5021340, Project Item Line Number 0170, Material Set 502134096, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action 0501CCPAQCQA A2 Shoulder is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 5029905, Project Item Line Number 0180, Material Set 502990596, Material 1056TM - Tinting Material for Concrete, Acceptance Action Generic 1056TM is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 5029905, Project Item Line Number 0180, Material Set 502990596, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 5029905, Project Item Line Number 0180, Material Set 502990596, Material 1057JMDAEC4.12 - Dowel Assemblies Epoxy Ctd Gr40 1 1/2" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 6085008, Project Item Line Number 1120, Material Set 608500896, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Insufficient Materials: Project J8S3238, Item 9018245, Project Item Line Number 1600, Material Set 901824596, Material 0901LHPFSA - Foundation for Highway Lighting, Acceptance Action Generic 0901LHPFSA is insufficient.	Material Sampling Checklist Pending	brookb6	Overridden
Estimate Exception Type: Item Overrun: Contract 241115-G3A, Contract Project J8S3238, Project Item Line Number 2020, Contract Line Item Number 2020, Item 9105200, Minor Item.	Pending Change Order 001 Approval	brookb6	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-G3A, Contract Project J8S3238, Project Item Line Number 2040, Contract Line Item Number 2040, Item 9108204, Minor Item.	Pending Change Order 001 Approval	brookb6	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-G3A, Contract Project J8S3238, Project Item Line Number 2050, Contract Line Item Number 2050, Item 9108352, Minor Item.	Pending Change Order 001 Approval	brookb6	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-G3A, Contract Project J8S3238, Project Item Line Number 0030, Contract Line Item Number 0030, Item 2035000, Minor Item.	Pending Change Order 001 Approval	brookb6	Acknowledged

Revision 5/29/2025 Page 5 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					d on Report Generated date and can differ from the poste							
Contract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241115-	J8S3238	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	0.75	\$16,800.00	\$12,600.00
G3A		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.72	\$156,000.00	\$112,320.00
		0001	0030	2035000	UNCLASSIFIED EXCAVATION	10,882.00	0.00	10,882.00	CUYD	10.949.48	\$5.70	\$62,412.04
		0001	0040	2035500	EMBANKMENT IN PLACE	22,693.00	0.00	22,693.00	CUYD	14.166.00	\$8.90	\$126,077.40
		0001	0050	2036000	COMPACTING EMBANKMENT	9,069.00	0.00	9,069.00	CUYD	4,879.48	\$5.80	\$28,300.98
		0001	0060	2063000	CLASS 3 EXCAVATION	1,994.00	0.00	1,994.00	CUYD	548.50	\$33.00	\$18,100.50
		0001	0070	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	2,502.00	0.00	2,502.00	LF	0.00	\$21.50	\$0.00
		0001	080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	1,449.00	0.00	1,449.00	SQYD	0.00	\$11.60	\$0.00
		0001	0090	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	776.00	0.00	776.00	SQYD	397.00	\$13.80	\$5,478.60
		0001	0100	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	24,718.00	0.00	24,718.00	SQYD	7,565.00	\$7.80	\$59,007.00
		0001	0110	4030101	, ,		0.00		TONS			
		0001			ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	516.10		516.10		145.80	\$100.00	\$14,580.00
		0001	0120	4030306	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP250C MIX)	1,837.90	0.00	1,837.90	TONS	936.50	\$85.90	\$80,445.35
		0001	0130	4039905	MISC.OPTIONAL PAVEMENT	444.60	0.00	444.60	SQYD	0.00	\$124.50	\$0.00
		0001	0140	4039905	MISC.OPTIONAL SHOULDER	148.70	0.00	148.70	SQYD	0.00	\$60.80	\$0.00
		0001	0150	4071005	TACK COAT	235.00	0.00	235.00	GAL	0.00	\$2.50	\$0.00
		0001	0160	5021334	CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	14,362.30	0.00	14,362.30	SQYD	5,981.00	\$90.90	\$543,672.90
			0170	5021340	TYPE A2 SHOULDER	1,951.70	0.00	1,951.70	SQYD	193.00	\$34.00	\$6,562.00
		0001	0180	5029905	MISC.TINTED TRUCK APRON CONCRETE PAVEMENT (10 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	1,192.70	0.00	1,192.70	SQYD	51.00	\$153.50	\$7,828.50
		0001	0190	6044011	PIPE COLLAR, TYPE A	2.00	0.00	2.00	EA	0.00	\$3,650.00	\$0.00
		0001	0200	6081010	CONCRETE CURB RAMP	404.40	0.00	404.40	SQYD	0.00	\$160.50	\$0.00
		0001	0210	6081012	TRUNCATED DOMES	272.00	0.00	272.00	SQFT	0.00	\$48.40	\$0.00
		0001	0220	6083006	6 IN. CONCRETE MEDIAN STRIP	1,073.00	0.00	1,073.00	SQYD	0.00	\$69.90	\$0.00
		0001	0230	6085008	PAVED APPROACH, 8 IN.	775.80	0.00	775.80	SQYD	0.00	\$146.00	\$0.00
		0001	0240	6086004	CONCRETE SIDEWALK, 4 IN.	1,060.10	0.00	1,060.10	SQYD	0.00	\$56.00	\$0.00
		0001	0250	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	994.00	0.00	994.00	LF	0.00	\$32.40	\$0.00
		0001	0260	6091052	CURB AND GUTTER TYPE B	2,677.00	0.00	2,677.00	LF	851.00	\$35.00	\$29,785.00
		0001	0270	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	114.00	0.00	114.00	LF	0.00	\$38.30	\$0.00
		0001	0280	6092014	INTEGRAL CURB TYPE N	1,053.00	0.00	1,053.00	LF	0.00	\$14.30	\$0.00
		0001 02	0290	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	12.00	0.00	12.00	CUYD	0.00	\$61.20	\$0.00
		0001	0300	6096041		12.00	0.00	12.00	CUYD	0.00	\$298.00	\$0.00
		0001	0310	6097000	ROCK LINING	40.00	0.00	40.00	CUYD	0.00	\$149.00	\$0.00
		0001	0320	6099903	MISC.MODIFIED TYPE A GUTTER	9.00	0.00	9.00	LF	0.00	\$332.50	\$0.00
		0001	0330	6099903	MISC.STEEL PLATE	10.00	0.00	10.00	LF	10.00	\$657.50	\$6,575.00
		0001	0340	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	1.00	\$32,400.00	\$32,400.00
		0001	0350	6141022	GRATE AND BEARING PLATE (3 FT. X 3 FT. OR 914 MM X 914 MM)	1.00	0.00	1.00	EA	1.00	\$2,820.00	\$2,820.00
		0001	0360	6141120	CURVED VANE GRATE AND FRAME (2 FT. X 2 FT. OR 600MM X 600MM)	14.00	0.00	14.00	EA	2.00	\$1,520.00	\$3,040.00
		0001	0370	6141121	CURVED VANE GRATE AND FRAME (4 FT. X 2 FT. OR 1200MM X 600MM)	2.00	0.00	2.00	EA	0.00	\$2,720.00	\$0.00
		0001	0380	6143012	MANHOLE FRAME AND COVER, TYPE 2	1.00	0.00	1.00	EA	0.00	\$1,780.00	\$0.00
		0001	0390	6143013	MANHOLE FRAME AND COVER, TYPE 3	17.00	0.00	17.00	EA	9.00	\$1,950.00	\$17,550.00
		0001	0400	6143020	CURB INLET	24.00	0.00	24.00	EA	5.00	\$1,140.00	\$5,700.00
		0001	0410	6161005	CONSTRUCTION SIGNS	923.00	0.00	923.00	SQFT	306.50	\$9.00	\$2,758.50
		0001	0420	6161008	ADVANCED WARNING RAIL SYSTEM	5.00	0.00	5.00	EA	0.00	\$60.00	\$0.00
		0001	0430	6161025	CHANNELIZER (TRIM-LINE)	450.00	0.00	450.00	EA	407.00	\$25.00	\$10,175.00
		0001	0440	6161030	TYPE 3 MOVEABLE BARRICADE	31.00	0.00	31.00	EA	31.00	\$250.00	\$7.750.00
		0001	0450	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	1.00	\$2,750.00	\$2,750.00
		0001	0460	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	0.00	3.00	EA	3.00	\$8,800.00	\$26,400.00
		0001	0470	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	12.00	0.00	12.00	EA	0.00	\$250.00	\$0.00
		0001	0480	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0490	6189901	MISC.MOBILIZATION	1.00	0.00	1.00	LS		\$230,484.51	\$115,242.26
		0001	0500	6191000	PAVEMENT EDGE TREATMENT		0.00		LS			
		0001				9,763.00		9,763.00		4,288.00	\$3.80	\$16,294.40
		0001	0510	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	152.00	0.00	152.00	LF	0.00	\$25.00	\$0.00
		0001	0520	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	48.00	0.00	48.00	LF	0.00	\$25.00	\$0.00
		0001	0530	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING,	29.00	0.00	29.00	EA	0.00	\$280.00	\$0.00

Revision 5/29/2025 Page 6 of 26



Total Paid / All Items / All Estimates (Including this Estimate)

t Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
J8S3238				LEFT/RIGHT ARROW							
	0001	0540	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	15.00	0.00	15.00	EA	0.00	\$250.00	\$0.
	0001	0550	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	25.00	0.00	25.00	EA	0.00	\$450.00	\$0.
	0001	0560	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	63.00	0.00	63.00	EA	0.00	\$180.00	\$0
	0001	0570	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	143.00	0.00	143.00	EA	0.00	\$70.00	\$0
	0001	0580	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	23,367.00	0.00	23,367.00	LF	6,357.00	\$2.00	\$12,714
	0001	0590	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	22,913.00	0.00	22,913.00	LF	7,708.00	\$2.00	\$15,416
	0001	0600	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	586.00	0.00	586.00	LF	326.00	\$10.00	\$3,260
	0001	0610	6205440A	TEMPORARY NON-REMOVABLE MARKING TAPE LEFT/RIGHT ARROW	8.00	0.00	8.00	EA	2.00	\$200.00	\$400
	0001	0620	6205442	TEMPORARY NON-REMOVABLE MARKING TAPE STRAIGHT ARROW	4.00	0.00	4.00	EA	2.00	\$150.00	\$300
	0001	0630	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	9,653.00	0.00	9,653.00	LF	0.00	\$0.50	\$0
	0001	0640	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	9,180.00	0.00	9,180.00	LF	0.00	\$0.50	\$0
	0001	0650	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	66.00	0.00	66.00	SQYD	0.00	\$6.20	\$(
	0001	0660	6279901	MISC.CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.65	\$64,000.00	\$41,60
	0001	0670	7261012	12 IN. PIPE GROUP A	70.00	0.00	70.00	LF	45.00	\$99.20	\$4,46
	0001	0680	7261015	15 IN. PIPE GROUP A	321.00	0.00	321.00	LF	180.00	\$46.40	\$8,35
	0001	0690	7261018	18 IN. PIPE GROUP A	926.00	0.00	926.00	LF	479.00	\$64.40	\$30,84
	0001	0700	7261024	24 IN. PIPE GROUP A	782.00	0.00	782.00	LF	73.00	\$71.90	\$5,24
	0001	0710	7261036	36 IN. PIPE GROUP A	148.00	0.00	148.00	LF	0.00	\$183.00	\$ 5,000
	0001	0720	7309903	MISC.19" X 30" REINFORCED CONCRETE ELLIPTICAL CULVERT, GROUP A	67.00	0.00	67.00	LF	0.00	\$135.00	\$
	0001	0730	7309903	MISC.22" X 34" REINFORCED CONCRETE ELLIPTICAL CULVERT, GROUP A	41.00	0.00	41.00	LF	0.00	\$205.50	\$
	0001	0740	7309903	MISC.24" X 38" REINFORCED CONCRETE ELLIPTICAL CULVERT, GROUP A	80.00	0.00	80.00	LF	0.00	\$172.50	\$
	0001	0750	7309903	MISC.26" X 42" REINFORCED CONCRETE ELLIPTICAL CULVERT, GROUP A	11.00	0.00	11.00	LF	0.00	\$233.50	\$
	0001	0760	7310048	PRECAST CONCRETE MANHOLE - 48 IN.	24.00	0.00	24.00	FT	4.00	\$998.50	\$3,99
	0001	0770	7310060	PRECAST CONCRETE MANHOLE - 60 IN.	5.00	0.00	5.00	FT	0.00	\$1,140.00	\$
	0001	0780	7310072	PRECAST CONCRETE MANHOLE - 72 IN.	12.00	0.00	12.00	FT	0.00	\$993.50	\$
	0001	0790	7311022	PRECAST CONCRETE DROP INLET 2 FT X 2 FT	17.00	0.00	17.00	FT	7.00	\$942.50	\$6,59
	0001	0800	7311030	PRECAST CONCRETE DROP INLET 3 FT X 2 FT-6 IN.	58.00	0.00	58.00	FT	33.00	\$813.00	\$26,82
	0001	0810	7311032	PRECAST CONCRETE DROP INLET 3 FT X 2 FT	4.00	0.00	4.00	FT	0.00	\$2,490.00	\$
	0001	0820	7311033	PRECAST CONCRETE DROP INLET 3 FT X 3 FT	5.00	0.00	5.00	FT	5.00	\$909.50	\$4,54
	0001	0830	7311042	PRECAST CONCRETE DROP INLET 4 FT X 2 FT	8.00	0.00	8.00	FT	0.00	\$956.50	9
	0001	0840	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	36.00	0.00	36.00	FT	36.00	\$1,100.00	\$39,60
	0001	0850		12 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$657.50	\$
	0001	0860	7320015A	15 IN, OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	3.00	0.00	3.00	EA	0.00	\$573.50	\$
	0001	0870	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	6.00	0.00	6.00	EA	0.00	\$650.00	\$
	0001	0880	7320024A	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$1,560.00	\$
	0001	0890	7320036A	36 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$1,600.00	\$
	0001	0900	7329902	$\ensuremath{MISC.24^{"X38^{"}}}$ OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$2,720.00	\$
	0001	0910	7329902	MISC.26" X 42" OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$2,720.00	\$
	0001	0920	7339901	MISC.CONNECTION OF EXISTING DRAINAGE FACILITIES	1.00	0.00	1.00	LS	0.00	\$2,140.00	\$
	0001	0930	8031000A	TURF TYPE TALL FESCUE SODDING	2,976.00	0.00	2,976.00	SQYD	0.00	\$21.50	\$
	0001	0940	8051000A	SEEDING - COOL SEASON GRASSES	4.80	0.00	4.80	ACRE	0.00	\$2,870.00	\$
	0001	0950	8061005	ROCK DITCH CHECK	25.00	0.00	25.00	LF	25.00	\$14.90	\$37
	0001	0960	8061006	ALTERNATE DITCH CHECK	980.00	0.00	980.00	LF	670.00	\$9.60	\$6,43
	0001	0970	8061007A	CURB INLET CHECK	50.00	0.00	50.00	EA	0.00	\$95.60	\$
	0001	0980	8061016	SEDIMENT REMOVAL	1,060.00	0.00	1,060.00	CUYD	0.00	\$11.70	\$
00		0990	8061017	TEMPORARY SEEDING	1.40	0.00	1.40	ACRE	0.00	\$1,910.00	\$

Revision 5/29/2025 Page 7 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTED To Date (See report
	J8S3238						Order	Quantity		Approved Qty		generated date)
G3A		0001	1000	8061019	SILT FENCE	4,544.00	0.00	4,544.00	LF	2,996.00	\$3.10	\$9,287.60
		0001	1010	9029400	TEMPORARY TRAFFIC SIGNALS	1.00	0.00	1.00	LS	1.00	\$30,500.00	\$30,500.00
		0001	1020	9029902	MISC.ADJUST TEMPORARY SIGNAL	3.00	0.00	3.00	EA	0.00	\$4,080.00	\$0.00
		0002	1030	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$41,800.00	\$0.00
		0002	1040	2063000	CLASS 3 EXCAVATION	381.00	0.00	381.00	CUYD	0.00	\$51.00	\$0.00
		0002	1050	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	1,404.00	0.00	1,404.00	LF	0.00	\$26.80	\$0.00
		0002	1060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	740.00	0.00	740.00	SQYD	0.00	\$14.30	\$0.00
		0002	1070	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	466.00	0.00	466.00	SQYD	0.00	\$20.30	\$0.00
		0002	1080	6049902	MISC.EXISTING INLET STRUCTURE RETROFITS	8.00	0.00	8.00	EA	1.00	\$2,950.00	\$2,950.00
		0002	1090	6049903	MISC.TRENCH DRAIN	67.00	0.00	67.00	LF	0.00	\$432.00	\$0.00
		0002	1100	6081010	CONCRETE CURB RAMP	274.70	0.00	274.70	SQYD	0.00	\$158.00	\$0.00
		0002	1110	6081012	TRUNCATED DOMES	68.00	0.00	68.00	SQFT	0.00	\$48.40	\$0.00
		0002	1120	6085008	PAVED APPROACH, 8 IN.	466.00	0.00	466.00	SQYD	157.00	\$136.50	\$21,430.50
		0002	1130	6086004	CONCRETE SIDEWALK, 4 IN.	523.10	0.00	523.10	SQYD	0.00	\$56.00	\$0.00
		0002	1140	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	50.00	0.00	50.00	LF	0.00	\$83.80	\$0.00
		0002	1150	6091052	CURB AND GUTTER TYPE B	1,234.00	0.00	1,234.00	LF	0.00	\$38.90	\$0.00
		0002	1160	6097000	ROCK LINING	15.00	0.00	15.00	CUYD	0.00	\$151.00	\$0.00
		0002	1170	6099903	MISC.MODIFIED TYPE A GUTTER	30.00	0.00	30.00	LF	0.00	\$304.00	\$0.00
		0002	1180	6099903	MISC.STEEL PLATE	22.00	0.00	22.00	LF	0.00	\$639.00	\$0.00
		0002	1190	6141120	CURVED VANE GRATE AND FRAME (2 FT. X 2 FT. OR 600MM X 600MM)	12.00	0.00	12.00	EA	0.00	\$1,500.00	\$0.00
		0002	1200	6141121	CURVED VANE GRATE AND FRAME (4 FT. X 2 FT. OR 1200MM X 600MM)	1.00	0.00	1.00	EA	0.00	\$3,790.00	\$0.00
		0002	1210	6143013	MANHOLE FRAME AND COVER, TYPE 3	1.00	0.00	1.00	EA	0.00	\$1,450.00	\$0.00
		0002	1220	6149902	MISC.DOUBLE-SIDED INLET TOP	1.00	0.00	1.00	EA	0.00	\$6,200.00	\$0.00
		0002	1230	6189901	MISC.MOBILIZATION - CITY OF STRAFFORD	1.00	0.00	1.00	LS	0.00	\$67,700.00	\$0.00
	(0002	1240	6279901	MISC.CONTRACTOR FURNISHED SURVEYING AND STAKING - CITY OF STRAFFORD	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.00
		0002	1250	7261012	12 IN. PIPE GROUP A	4.00	0.00	4.00	LF	0.00	\$379.50	\$0.00
		0002	1260	7261015	15 IN. PIPE GROUP A	15.00	0.00	15.00	LF	0.00	\$164.00	\$0.00
		0002	1270	7261018	18 IN. PIPE GROUP A	73.00	0.00	73.00	LF	0.00	\$110.00	\$0.00
		0002	1280	7261024	24 IN. PIPE GROUP A	250.00	0.00	250.00	LF	0.00	\$80.70	\$0.00
		0002	1290	7310060	PRECAST CONCRETE MANHOLE - 60 IN.	5.00	0.00	5.00	FT	0.00	\$848.00	\$0.00
		0002	1300	7311022	PRECAST CONCRETE DROP INLET 2 FT X 2 FT	16.00	0.00	16.00	FT	0.00	\$867.50	\$0.00
		0002	1310	7311032	PRECAST CONCRETE DROP INLET 3 FT X 2 FT	14.00	0.00	14.00	FT	0.00	\$687.50	\$0.00
		0002	1320	7311042	PRECAST CONCRETE DROP INLET 4 FT X 2 FT	2.00	0.00	2.00	FT	0.00	\$2,240.00	\$0.00
		0002	1330	7320024A	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$1,350.00	\$0.00
		0002	1340	8031000A	TURF TYPE TALL FESCUE SODDING	178.00	0.00	178.00	SQYD	0.00	\$11.70	\$0.00
		0002	1350	9031220	PIPE POSTS	40.00	0.00	40.00	LB	0.00	\$5.00	\$0.00
		0002	1360	9031280	2.5 IN. PSST POST - 12 GA.	112.00	0.00	112.00	LF	0.00	\$23.00	\$0.00
		0002	1370 1380	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	7.00	0.00	7.00	EA SQFT	0.00	\$200.00	\$0.00
		0002	1380	9035004A 9035069A	SH-FLAT SHEET SHF-FLAT SHEET FLUORESCENT	68.00	0.00	9.00	SQFT	0.00	\$21.00 \$23.00	\$0.00 \$0.00
		0002	1400	9035069A 9039901	MISC.RELOCATE CENTRAL BANK SIGN ON NEW POST	9.00	0.00	1.00	LS	0.00	\$23.00	\$0.00
		0010	1410	6061060	MGS GUARDRAIL	175.00	0.00	175.00	LF	0.00	\$10,600.00	\$0.00
		0010	1410	6061069	MGS BRIDGE APPROACH TRANSITION SECTION	2.00	0.00	2.00	EA	0.00	\$3,600.00	\$0.00
		0010	1430	6062200A	(REGULAR/NO CURB) BRIDGE ANCHOR SECTION, 6.5 FT. POSTS (SAFETY BARRIER	2.00	0.00	2.00	EA	0.00	\$2,800.00	\$0.00
		0010	1440	6063014	CURB) (ROADWAY AND REHABILITATION WORK ONLY) TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,200.00	\$0.00
		0020	1450	9011064	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 3	24.00	0.00	24.00	EA	0.00	\$4,200.00	\$0.00
		0020	1460	9011106	BRACKET ARM, 6 FT. OR 1.8 M	19.00	0.00	19.00	EA	0.00	\$630.00	\$0.00
		0020	1470	9011110	BRACKET ARM, 10 FT. OR 3.0 M	3.00	0.00	3.00	EA	0.00	\$1,410.00	\$0.00
		0020	1480	9011115	BRACKET ARM, 15 FT. OR 4.6 M	2.00	0.00	2.00	EA	0.00	\$1,490.00	\$0.00
		0020	1490	9011312	LUMINAIRE, LED-B	24.00	0.00	24.00	EA	0.00	\$450.00	\$0.00
		0020	1500	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	1.00	0.00	1.00	EA	1.00	\$9,600.00	\$9,600.00
		0020	1510	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	16.00	0.00	16.00	LF	16.00	\$18.20	\$291.20
		0020	1520	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	105.00	0.00	105.00	LF	81.00	\$20.50	\$1,660.50
		0020	1530	9014004	CONDUIT, 4 IN. RIGID, PUSHED	721.00	0.00	721.00	LF	398.00	\$29.50	\$11,741.00

Revision 5/29/2025 Page 8 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241115-	J8S3238	0020	1540	9015010	TRENCHING TYPE I	6,810.00	0.00	6,810.00	LF	4,615.00	\$5.30	\$24,459.50
G3A		0020	1550	9016110	PULL BOX, PREFORMED CLASS 1	23.00	0.00	23.00	EA	9.00	\$1,220.00	\$10,980.00
		0020	1560	9017002	CABLE, 2 AWG 1 CONDUCTOR	100.00	0.00	100.00	LF	100.00	\$4.10	\$410.00
		0020	1570	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	3,410.00	0.00	3,410.00	LF	0.00	\$1.10	\$0.00
		0020	1580	9017404	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 6 AWG	8,970.00	0.00	8,970.00	LF	5,142.00	\$5.50	\$28,281.00
		0020	1590	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	10.00	0.00	10.00	EA	0.00	\$2,010.00	\$0.00
		0020	1600	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	14.00	0.00	14.00	EA	8.00	\$2,830.00	\$22,640.00
		0020	1610	9019901	MISC.UTILIZE EXISTING TYPE 2 POWER SUPLLY	1.00	0.00	1.00	LS	0.00	\$615.00	\$0.00
		0030	1620	9020211	SIGNAL HEAD, TYPE 1S	2.00	0.00	2.00	EA	0.00	\$680.00	\$0.00
		0030	1630	9020213	SIGNAL HEAD, TYPE 3S	2.00	0.00	2.00	EA	0.00	\$1,060.00	\$0.00
		0030	1640	9020513	SIGNAL HEAD, TYPE 3B	4.00	0.00	4.00	EA	0.00	\$1,200.00	\$0.00
		0030	1650	9020514	SIGNAL HEAD, TYPE 4B	1.00	0.00	1.00	EA	0.00	\$1,450.00	\$0.00
		0030	1660	9020833	SH-FLAT SHEET - SIGNAL SIGN	9.00	0.00	9.00	SQFT	0.00	\$26.80	\$0.00
		0030	1670	9020834	SIGNAL SIGN, MOUNTING HARDWARE	3.00	0.00	3.00	EA	0.00	\$325.00	\$0.00
		0030	1680	9022708	POST, SIGNAL 8 FT.	1.00	0.00	1.00	EA	0.00	\$1,330.00	\$0.00
		0030	1690	9023120	POST, TYPE CL, 20 FT. ARM OR 6.1 M ARM	2.00	0.00	2.00	EA	0.00	\$11,100.00	\$0.00
		0030	1700	9023130	POST, TYPE CL, 30 FT. ARM OR 9.1 M ARM	1.00	0.00	1.00	EA	0.00	\$14,400.00	\$0.00
		0030	1710	9024170	CONTROLLER ASSEMBLY HOUSING, TYPE 170	1.00	0.00	1.00	EA	1.00	\$28,600.00	\$28,600.00
		0030	1720	9024965	DETECTOR, MICROWAVE	1.00	0.00	1.00	EA	0.00	\$46,300.00	\$0.00
		0030	1730	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	117.00	0.00	117.00	LF	21.00	\$9.10	\$191.10
		0030										
		0030	1740	9025400	CONDUIT, 4 IN., TRENCH WITH TRACER WIRE	84.00	0.00	84.00	LF	0.00	\$20.90	\$0.00
		0030	1750	9027400	CONDUIT, 4 IN., PUSHED WITH TRACER WIRE	197.00	0.00	197.00	LF	0.00	\$30.20	\$0.00
		0030	1760	9028204	CABLE, 4 AWG 1 CONDUCTOR, POWER	520.00	0.00	520.00	LF	0.00	\$2.60	\$0.00
		0030	1770	9028308	CABLE, 16 AWG 2 CONDUCTOR	250.00	0.00	250.00	LF	0.00	\$1.20	\$0.00
		0030	1780	9028310	CABLE, 16 AWG 5 CONDUCTOR	1,380.00	0.00	1,380.00	LF	0.00	\$1.60	\$0.00
		0030	1790	9028621	POWER SUPPLY ASSEMBLY, TYPE-2 WITH 120V LIGHTING CONTROL CABINET	1.00	0.00	1.00	EA	1.00	\$9,900.00	\$9,900.00
		0030	1800	9028810	PULL BOX, PREFORMED CLASS 1	1.00	0.00	1.00	EA	0.00	\$1,200.00	\$0.00
		0030	1810	9028811	PULL BOX, PREFORMED CLASS 2	1.00	0.00	1.00	EA	0.00	\$1,580.00	\$0.00
			1820	9028820			0.00	1.00	EA	0.00	\$3,290.00	\$0.00
		0030	1830	9028821	PULL BOX, CONCRETE, DOUBLE, TYPE A	1.00	0.00	1.00	EA	0.00	\$5,200.00	\$0.00
		0030	1840	9029100	BASE, CONCRETE	10.00	0.00	0.00 10.00	CUYD	1.50	\$1,260.00	\$1,890.00
		0030	1850	9029902	MISC.2070 ATC CONTROLLER	1.00	0.00	1.00	EA	1.00	\$27,500.00	\$27,500.00
		0030	1860	9029902	MISC.AUDIBLE PEDESTRIAN PUSHBUTTONS AND SIGNING	2.00	0.00	2.00	EA	0.00	\$1,100.00	\$0.00
		0030	1870	9029902	MISC.RECTANGULAR RAPID FLASHING BEACON ASSEMBLY	8.00	0.00	8.00	EA	0.00	\$10,500.00	\$0.00
		0040	1880	9031010	CONCRETE FOOTINGS, EMBEDDED	7.70	0.00	7.70	CUYD	0.00	\$1,200.00	\$0.00
		0040	1890	9031220	PIPE POSTS	2,410.00	0.00	2,410.00	LB	0.00	\$5.00	\$0.00
		0040	1900	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	22.00	0.00	22.00	EA	0.00	\$375.00	\$0.00
		0040	1910	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	14.00	0.00	14.00	EA	0.00	\$175.00	\$0.00
		0040	1920	9031280	2.5 IN. PSST POST - 12 GA.	1,264.00	0.00	1,264.00	LF	0.00	\$23.00	\$0.00
		0040	1930	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	79.00	0.00	79.00	EA	0.00	\$200.00	\$0.00
		0040	1940	9035004A	SH-FLAT SHEET	577.00	0.00	577.00	SQFT	0.00	\$21.00	\$0.00
		0040	1950	9035011A	ST-STRUCTURAL	982.00	0.00	982.00	SQFT	0.00	\$30.00	\$0.00
		0040	1960	9035069A	SHF-FLAT SHEET FLUORESCENT	435.00	0.00	435.00	SQFT	0.00	\$23.00	\$0.00
		0040	1970	9036042	TUBULAR SUPPORT, TYPE C-2018-28	1.00	0.00	1.00	EA	0.00	\$32,000.00	\$0.00
		0040	1980	9036043	TUBULAR SUPPORT, TYPE C-2018-34	4.00	0.00	4.00	EA	0.00	\$35,000.00	\$0.00
		0040	1990	9039901	MISC.TYPE S TWO TUBE OVERHEAD SIGN TRUSS 60'-0"	1.00	0.00	1.00	LS	0.00	\$39,000.00	\$0.00
		0040	2000	9039901	MISC.TYPE S-27718 TUBULAR STEEL SUPPORT POSTS ONLY	1.00	0.00	1.00	LS	0.00	\$35,000.00	\$0.00
		0040	2010	9039902	MISC.RELOCATE EXISTING SIGN ON NEW POST	8.00	0.00	8.00	EA	0.00	\$500.00	\$0.00
		0050	2020	9105200	CONDUIT, 2 IN., RIGID, IN TRENCH	1,215.00	0.00	1,215.00	LF	1,306.00	\$9.10	\$11,884.60
		0050	2030	9107201	CONDUIT, 3 IN., RIGID, PUSHED	292.00	0.00	292.00	LF	278.00	\$30.00	\$8,340.00
		0050	2040	9108204	CABLE, 4 AWG, 1 CONDUCTOR, POWER	3,450.00	0.00	3,450.00	LF	3,928.00	\$2.60	\$10,212.80
		0050	2050	9108352	FIBER OPTIC CABLE, 24-STRAND, 18 SINGLE MODE, 6	1,190.00	0.00	1,190.00	LF	1,531.00	\$6.50	\$9,951.50
		0050	2060	9108352	MULTIMODE PULL BOX, CONCRETE, STANDARD	6.00	0.00	6.00	EA	6.00	\$3,150.00	\$18,900.00
		0050	2070	9108820								
		0070			FIELD CONNECTOR, TYPE ST	12.00	0.00	12.00	EA	0.00	\$115.00	\$0.00
		30.0	2080	6073001	(48 IN.) DECORATIVE PEDESTRIAN FENCE(STRUCTURES)	238.00	0.00	238.00	LF	0.00	\$290.00	\$0.00

Revision 5/29/2025 Page 9 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241115-	J8S3238	0070	2090	7034219A	TYPE D BARRIER	277.00	0.00	277.00	LF	0.00	\$99.50	\$0.00
G3A		0070	2100	7049902	MISC.SLAB DRAIN MODIFICATIONS	10.00	0.00	10.00	EA	0.00	\$681.00	\$0.00
	Project J8	3S3238 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,869,201.52
241115-G	3A Overal	I - Total Va	lue Poste	ed to Date as	of Report Generated Date							\$1,869,201.52

Revision 5/29/2025 Page 10 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J8S3238

Line	Item	Description	DWR	DWR	Posting	Quantity	Units	Location	From	Offset/	То	Offset/	Comments
Number	Code		Date	Approval Date	Sequence No.	Posted			Station/ Log Mile	Distance	Station/ Log Mile	Distance	
0010	2013000	CLEARING AND GRUBBING	7/28/25		1			MO 125 and Chestnut St. Roundabout.	493+00 MO 125				
0020	2022010	REMOVAL OF IMPROVEMENTS	7/28/25	8/1/25	1	0.05	LS	12' LT MO 125	496+00 MO 125	12' LT MO 125			O'Reilly Automotive entry off of MO 125
0030	2035000	UNCLASSIFIED EXCAVATION	8/1/25	8/4/25	1	2,320.00	CUYD	Offset from 12' LT to 40 LT MO 125	489+95.35 MO 125	12' LT MO 125	493+00	40' LT MO 125	Actual 1160CY paid as double per MoDOT Spec. 203.9
0040	2035500	EMBANKMENT IN PLACE	7/31/25	8/1/25	1	434.00	CUYD		4+50 Ramp 3			1+50 Ramp 3	
			8/1/25	8/4/25	1	1,160.00	CUYD	Offset from 12' RT to 30' RT Ramp 3	1+50	12' RT	4+50	30' RT	
0050	2036000	COMPACTING EMBANKMENT	8/1/25	8/4/25	1	1,160.00	CUYD	Offset from 12' LT to 40 LT MO 125	Ramp 3 489+95.35	Ramp 3 12' LT	Ramp 3 493+00	MO 125 40' LT	
0060	2063000	CLASS 3 EXCAVATION		8/1/25	1		CUYD		MO 125 493+70.25	MO 125		MO 125	DI 5100
0000	2003000	CEASE S EXCAVATION	7751725	0/1/23		4.00	COID		400170.20	RT MO 125			DI 3100
0090	3040504	TYPE 5 AGGREGATE FOR BASE	7/30/25	8/1/25	1	157.00	SQYD	Offset 24' LT MO 125	496+65.20 MO 125	24' LT MO 125	495+60.98 MO 125	24' LT MO 125	O'Reilly Automotive entrance off MO 125
			7/31/25	8/1/25	1	165.00	SQYD		495+60.98		494+44.76		Sidewalk
				8/1/25	2	75.00	SQYD		MO 125 12+33.41		MO 125 12+32.37		Sidewalk
0100	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	7/18/25	7/28/25		1,594.00	SQYD	12' RT to 28' RT MO 125	493+35 MO 125	12' RT	495+95 MO 125	28' RT	Intersection of MO 125 and the new round-about at Chestnut St.
			8/1/25	8/4/25	1	1,200.00	SQYD	Offset 12' LT MO 125	489+95.35		493+00	12' LT	Onesalut of.
0120	4030306	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP2	7/29/25	8/1/25	1	65.00	TONS	From 0' to 40' RT MO 125	MO 125 489+95.35	MO 125 0'-40' RT	493+79.52	MO 125 0'-40' RT	South-West side MO 125 at approximate station
									MO 125	MO 125		MO 125	489+95.35 (offset 0'-40' RT) and the West side of the ner roundabout at the intersection of MO 125 and Chestnut St. at approximate station 493+79.52 (offset 0'-40' RT).
0160	5021334	CONCRETE PAVEMENT (10 1/2 IN. NON-REINF,	7/23/25	7/28/25	1	1,594.00	SQYD	From 12' RT MO 125 to 28' RT MO 125	493+35 MO 125	12' RT MO 125	495+95 MO 125	28' RT MO 125	
			7/29/25	8/1/25	1	68.00	SQYD	Offset 12' LT Chestnut St.	9+14 Chestnut St.	12' LT Chestnut St.	9+52	12' LT Chestnut St.	The pour was at the entrance to the strip center North of Chestnut St
0170	5021340	TYPE A2 SHOULDER	7/30/25	8/1/25	1	193.00	SQYD	Offset 2.36' RT to 10.36' RT Ramp 2	10+00 Ramp 2	2.36' RT Ramp 2	12+14.69 Ramp 2	10.36 ^t RT Ramp 2	South side of Ramp 2
0180	5029905	MISC.	7/29/25	8/1/25	1	51.00	SQYD	Offset 12' RT Chestnut St. and 12' RT MO 125	10+19.37 Chestnut St	12' RT Chestnut St	494+62.86 MO 125	12' RT MO 125	South-West side of MO 125 and Chestnut St. roundabou
0260	6091052	CURB AND GUTTER TYPE B	7/28/25	8/1/25	1	198.00	LF	From MO 125 offset 24' RT to Chestnut St. offset 12' LT	493+00 MO 125	24' RT MO 125	9+84 Chestnut St	12' LT Chestnut St	
			7/30/25	8/1/25	1	10.00	LF	offset from 12' RT to 20' RT Ramp 2	12+14 Ramp 2	20' RT Ramp 2	12+24 Ramp 2	12' Rt Ramp 2	
0390	6143013	MANHOLE FRAME AND COVER, TYPE 3	7/31/25	8/1/25	1	1.00	EA	Offset 97.46' RT MO 125	493+70.25 MO 125	97.46' RT MO 125			DI 5100
0400	6143020	CURB INLET	7/31/25	8/1/25	1	2.00	EA	Offset 97.46' RT MO 125	493+70.25 MO 125				DI 5100
0440	6161030	TYPE 3 MOVEABLE BARRICADE	7/28/25	8/1/25	1	3.00	EA		9+18	120			Added 3 Type 3 barricades to Chestnut St.
			7/31/25	8/1/25	1	16.00	EA		See Plans		See Plans		Road Runner delivered 16 Type 3 movable barricades today
0500	6191000	PAVEMENT EDGE TREATMENT	7/28/25	8/1/25	1	200.00	LF	Installed 150LF of edge treatment on Ramp 2 from approximate stations 11+00 to 12+50 (offset 1' RT Ramp 2) and 50LF on North-bound MO 125 from approximate stations 481+50 to 482+00 (Offset 12' LT).	See Location	See Location	See Location	See Location	
			7/31/25	8/1/25	1	183.00	LF	Offset 12' LT MO 125	493+00	12' LT	492+98.17		
			8/1/25	8/4/25	1	250.00	LF	Offset 1' LT MO 125	MO 125 492+98.17	MO 125	MO 125 492+95.67	MO 125	
0580	620E201B	TEMPORARY REMOVABLE MARKING TAPE 4 IN.,	7/30/25	8/1/25	1	363.00		Offset 12' LT Chestnut St. and 24' RT MO 125	10+00	MO 125 12' LT	491÷50	MO 125 24' RT	
0360	02033016	TEMPORARY REMOVABLE MARKING TAPE 4 IV.,	1/30/23	0/1/23	'	303.00	LF	Oliset 12 ET Grestriut St. and 24 KT WO 123	Chestnut St.	Chestnut St.	MO 125	MO 125	
				8/1/25	2	235.00	LF	Offset 2' RT MO 125	493+79 MO 125	2' RT MO 125	491+50 MO 125	2' RT MO 125	
				8/1/25	3	434.00	LF	Offset 24' RT MO 125	489+85	24' RT	485+51	24' RT	
				8/1/25	4	210.00	LF	Offset 24' RT MO 125	MO 125 494+44	MO 125 24' RT	MO 125 496+54	MO 125 24' RT	
				8/1/25	5	241.00	15	Offset 12' LT MO 125	MO 125 494+44	MO 125 12' LT	496+85	MO 125	
									MO 125	MO 125	MO 125	MO 125	
0590	6205303B	TEMPORARY REMOVABLE MARKING TAPE	7/30/25	8/1/25	1	170.00	LF	Center of Chestnut St. West of new roundabout	9+84 Chestnut St.	0' Chestnut St.	10+69 Chestnut St.	0' Chestnut St.	
				8/1/25	2	470.00	LF	Offset 12' RT MO 125	493+79	12' RT	491+50	12' RT	
				8/1/25	3	1,060.00	LF	Center line MO 125	MO 125 495+19	MO 125 0' MO	MO 125 499+00	MO 125 0' MO	
				8/1/25	4	458.00	16	Offset 12' RT MO 125	MO 125 489+85	125 12' RT	MO 125 487+56	125 12' RT	
									MO 125	MO 125	407730	MO 125	
0600	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	7/30/25	8/1/25	1	28.00	LF	Offset 14' RT Chestnut St.	10+69 Chestnut St.	14' RT Chestnut St.			
				8/1/25	2	11.00	LF	Offset 24' LT MO 125	491+50 MO 125	24' LT MO 125			
				8/1/25	3	24.00	LF	Offset 12' RT MO 125	493+00 MO 125	12' RT MO 125			
				8/1/25	4	35.00	LF	Offset 15' LT Ramp 2	12+83	15' LT			
				8/1/25	5	11.00	LF	Offset 11' LT MO 125	Ramp 2 488+11	Ramp 2 11' LT			
				8/1/25	6	11.00		Offset 12' LT MO 125	MO 125 495+19	MO 125			
									MO 125	MO 125			
								0		OI			
				8/1/25	7	11.00	LF	Center of MO 125	493+79 MO 125	0'			
0670	7261012	12 IN. PIPE GROUP A	7/31/25			11.00 25.00		Center of MO 125 Offset from 97.46' RT MO 125 to 117.67' RT MO 125	493+79		493+49.32 MO 125	117.67' RT MO 125	From DI 5100
0670	7261012 7311053	12 IN. PIPE GROUP A PRECAST CONCRETE DROP INLET 5 FT X 3 FT		8/1/25	7	25.00	LF		493+79 MO 125 493+70.25	97.46' RT MO 125 97.46' RT MO 125	493+49.32 MO 125	RT MO	From DI 5100 DI 5100

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 11 of 26



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J8S3238	0030	UNCLASSIFIED EXCAVATION	Other Item Adjustment	FUEL	6	Jun 2, 2025	horsta1	(\$0.01)	Item Price Adjustment Index Type is FUEL to correct system adjustment error.
					7	Jun 16, 2025	brookb6	\$0.01	To correct system generated fuel adjustment.
				FUEL - Tota	ıl			\$0.00	
			Other Item Ad	justment - To	tal			\$0.00	
			Overrun	Overrun	9	Aug 4, 2025	SYSTEM	(\$389.01)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - To	otal			(\$389.01)	
			Overrun - Tota	ıl				(\$389.01)	
			Price FUEL		2	Apr 2, 2025	SYSTEM	\$1.02	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Apr 16, 2025	SYSTEM	\$20.69	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	May 16, 2025	SYSTEM	(\$42.35)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Jun 2, 2025	SYSTEM	(\$24.66)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Jun 16, 2025	SYSTEM	(\$64.25)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Jul 16, 2025	SYSTEM	\$63.36	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total	9	Aug 4, 2025	SYSTEM	\$150.34 \$104.15	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Price FUEL - T						
	0030	Total	FIICE FUEL - I	Otal				\$104.15 (\$284.86)	
	0030 - Total 0040 EMBANKMENT IN PLACE	Material		1	Mar 18, 2025	SYSTEM	(\$24,092.30)		
					1	Mar 18, 2025	SYSTEM	\$24,092.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dragod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Apr 2, 2025	SYSTEM	(\$78,204.30)	
				- Total				(\$78,204.30)	
			Material - Tota	ıl				(\$78,204.30)	
			MaterialCredit		3	Apr 16, 2025	SYSTEM	\$78,204.30	
				- Total				\$78,204.30	
			MaterialCredit	- Total				\$78,204.30	
			Price FUEL		1	Mar 18, 2025	SYSTEM	\$32.21	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Apr 2, 2025	SYSTEM	\$72.35	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Apr 16, 2025	SYSTEM	\$22.57	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	May 16, 2025	SYSTEM	(\$27.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Jun 2, 2025	SYSTEM	(\$17.85)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Jun 16, 2025	SYSTEM	(\$9.03)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Jul 16, 2025	SYSTEM	(\$3.06)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Aug 4, 2025	SYSTEM	\$120.51	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$190.60	
			Price FUEL - T	otal				\$190.60	
	0040 -							\$190.60	
	0050	COMPACTING EMBANKMENT	Material		5	May 16, 2025	SYSTEM	(\$5,109.80)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J8S3238	0050	COMPACTING EMBANKMENT	Material	71	5	May 16, 2025	SYSTEM	\$5,109.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user brookb6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jun 2, 2025	SYSTEM	(\$11,109.78)	
					6	Jun 2, 2025	SYSTEM	\$11,109.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user brookb6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Jun 16, 2025	SYSTEM	(\$15,923.78)	
					7	Jun 16, 2025	SYSTEM	\$15,923.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user brookb6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Jul 16, 2025	SYSTEM	(\$21,572.98)	
					8	Jul 16, 2025	SYSTEM	\$21,572.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user brookb6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Aug 4, 2025	SYSTEM	(\$28,300.98)	
					9	Aug 4, 2025	SYSTEM	\$28,300.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user brookb6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	laterial - Total				\$0.00	
	0050 -	- Total						\$0.00	
		TYPE 5 AGGREGATE FOR BASE	Other Item Adjustment	FUEL - Tota	9	Aug 4, 2025	brookb6	\$0.01 \$0.01	To correct AWP rounding
			Other Item Ad					\$0.01	
			Price FUEL	9	Aug 4,	SYSTEM	\$12.87	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
			111001022	- Total	0	2025	OTOTEM		Transferred Roll 1 files / Rejection R Hadox / Rejection R Type applied to 1 GEE
			Price FUEL - 1	IEL - Total				\$12.87 \$12.87	
	0090 -	- Total	THICTIGE	otai				\$12.88	
		TYPE 5 AGGREGATE FOR BASE (6 IN.	Material		3	Apr 16, 2025	SYSTEM	(\$3,775.20)	
		THICK)			4	May 2, 2025	SYSTEM	(\$3,775.20)	
					5	May 16, 2025	SYSTEM	(\$15,490.80)	
					5	May 16, 2025	SYSTEM	\$15,490.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user brookb6 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Aug 4, 2025	SYSTEM	(\$8,026.61)	
					9	Aug 4, 2025	SYSTEM	\$8,026.61	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user brookb6 overridding Payment Estimate Exception 2 on the current Payment Estimate.
									Estimate Exception 2 on the current rayment Estimate.
				- Total				(\$7,550.40)	Estimate Exception 2 on the during a dynamic Estimate.
			Material - Tota					(\$7,550.40) (\$7,550.40)	Examine Exception 2 of the current ayrion Established
			Material - Tota		4	May 2, 2025	SYSTEM		Estimate Exception 2 on the current regiment Estimate.
					4 5		SYSTEM SYSTEM	(\$7,550.40)	Estimate Exception 2 of the current dynamic Estimate.
						2025 May 16,		(\$7,550.40) \$3,775.20	Estimate Exception 2 on the earliest regiment Estimate.
				al - Total		2025 May 16,		(\$7,550.40) \$3,775.20 \$3,775.20	
			MaterialCredit	al - Total	5	2025 May 16, 2025 May 19, 2025	SYSTEM horsta1	(\$7,550.40) \$3,775.20 \$3,775.20 \$7,550.40 \$7,550.40 (\$10.71)	This adjustment is to correct for an erroneous duplication in the automatic system adjustment for FUEL
			MaterialCredit MaterialCredit Other Item	- Total - Total	5 8	2025 May 16, 2025 May 19,	SYSTEM	(\$7,550.40) \$3,775.20 \$3,775.20 \$7,550.40 \$7,550.40 (\$10.71)	This adjustment is to correct for an erroneous duplication in the automatic



ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3238	0100	TYPE 5	Other Item Ad	ljustment - To	otal			(\$10.72)	
		AGGREGATE FOR BASE (6 IN. THICK)	Price FUEL		3	Apr 16, 2025	SYSTEM	\$6.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	May 16, 2025	SYSTEM	\$21.42	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Jun 16, 2025	SYSTEM	(\$9.41)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Jul 16, 2025	SYSTEM	\$78.42	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Aug 4, 2025	SYSTEM	\$138.81	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$236.14	
			Price FUEL - 1	Total				\$236.14	
	0100 -	- Total						\$225.42	
	0110	ASPHALTIC CONCRETE	Material		5	May 16, 2025	SYSTEM	(\$14,580.00)	
		MIXTURE PG 64-22 (SP1			5	May 16, 2025	SYSTEM	\$14,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user brookb6 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Jun 2, 2025	SYSTEM	(\$14,580.00)	
					6	Jun 2, 2025	SYSTEM	\$14,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user brookb6 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Jun 16, 2025	SYSTEM	(\$14,580.00)	
					7	Jun 16, 2025	SYSTEM	\$14,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user brookb6 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Jul 16, 2025	SYSTEM	(\$14,580.00)	
					8	Jul 16, 2025	SYSTEM	\$14,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user brookb6 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
			Other Item Adjustment	ACAD	5	May 16, 2025	brookb6	\$99.51	April adjustment represents 145.8 tons of SP125C. Base index equals 493.75, April index equals 511.25
				ACAD - Tot	al			\$99.51	
			Other Item Ad	ljustment - To	otal			\$99.51	
			Price FUEL		5	May 16, 2025	SYSTEM	\$30.01	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$30.01	
			Price FUEL - 1	Total				\$30.01	
		- Total						\$129.52	
	0120	ASPHALTIC CONCRETE	Material		5	May 16, 2025	SYSTEM	(\$44,453.25)	
						1.4	SYSTEM	\$44,453.25	TI
		MIXTURE PG 64-22 (SP2			5	May 16, 2025	STSTEM	φ44,433.23	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user brookb6 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		MIXTURE PG			6		SYSTEM	(\$44,453.25)	Estimate Item Adjustment (0015) due to user brookb6 overridding Payment
		MIXTURE PG				2025 Jun 2,			Estimate Item Adjustment (0015) due to user brookb6 overridding Payment
		MIXTURE PG			6	2025 Jun 2, 2025 Jun 2,	SYSTEM	(\$44,453.25)	Estimate Item Adjustment (0015) due to user brookb6 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user brookb6 overridding Payment
		MIXTURE PG			6	Jun 2, 2025 Jun 2, 2025 Jun 2, 2025 Jun 16,	SYSTEM	(\$44,453.25) \$44,453.25	Estimate Item Adjustment (0015) due to user brookb6 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user brookb6 overridding Payment
		MIXTURE PG			6 6 7	Jun 2, 2025 Jun 2, 2025 Jun 16, 2025 Jun 16,	SYSTEM SYSTEM	(\$44,453.25) \$44,453.25 (\$44,453.25)	Estimate Item Adjustment (0015) due to user brookb6 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user brookb6 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user brookb6 overridding Payment



t	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
88	0120	ASPHALTIC CONCRETE	Material	. , , po		2025			Estimate Item Adjustment (0017) due to user brookb6 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		MIXTURE PG 64-22 (SP2		- Total				\$0.00	
		04-22 (SF2	Material - Tota					\$0.00	
			Other Item Adjustment	ACAD	5	May 16, 2025	brookb6	\$353.19	April adjustment represents 517.5 tons of SP250C. Base index equals 493.75, April index equals 511.25
					8	Jul 16, 2025	horsta1	\$92.82	AC price adjustment for June 2025, Base Index = 493.75, June Index 513.75 for 119.0 Tons SP250
					8	Jul 16, 2025	horsta1	\$183.30	AC price adjustment for July 2025, Base Index = 493.75, June Index 513.75, for 235.0 Tons SP250 $$
					9	Aug 4, 2025	brookb6	\$50.70	AC price adjustment for July 2025. Base index = 493.75, July index 513.75, for 65 tons SP250.
				ACAD - Tot				\$680.01	
			Other Item Ad	djustment - To	tal			\$680.01	
			Price FUEL		5	May 16, 2025	SYSTEM	\$106.52	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Jul 16, 2025	SYSTEM	\$117.55	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Total	9	Aug 4, 2025	SYSTEM	\$46.61	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Date FUEL 1	- Total				\$270.68	
	0120 -	Total	Price FUEL -	Total				\$270.68 \$950.69	
	0160		Material		8	Jul 16,	SYSTEM	(\$267,948.48)	
	0100	CONCRETE PAVEMENT (10 1/2 IN. NON- REINF,	Material		8	2025 Jul 16,	SYSTEM	\$267,948.48	This adjustment offsets the original system-generated Material Payment
		, ,					2025		
					9	Aug 4, 2025	SYSTEM	(\$387,862.12)	
					9	Aug 4, 2025	SYSTEM	\$387,862.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user brookb6 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
			Other Item Adjustment	FUEL	8	Jul 16, 2025	horsta1	\$6.88	To correct system adjustment calculation
					8	Jul 16, 2025	horsta1	(\$35.13)	To correct system adjustment calculation
				FUEL - Tota	ıl			(\$28.25)	
			Other Item Ad	djustment - To	tal			(\$28.25)	
			Price FUEL		8	Jul 16, 2025	SYSTEM	\$434.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Aug 4, 2025	SYSTEM	\$276.42	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$711.32	
			Price FUEL -	Total				\$711.32	
		Total				A 4	SYSTEM	\$683.07 (\$6,562.00)	
	0160 - 0170	TYPE A2	Material		9	Aug 4,	OTOTLIVI	(ψ0,002.00)	
			Material		9	Aug 4, 2025 Aug 4, 2025	SYSTEM	\$6,562.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user brookbo overridding Payment Estimate Item (and the outer Deursche Estimate).
		TYPE A2	Material	- Total		2025 Aug 4,		\$6,562.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user brookb6 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		TYPE A2		- Total		2025 Aug 4,		\$6,562.00 \$0.00	Estimate Item Adjustment (0016) due to user brookb6 overridding Payment
		TYPE A2	Material - Tota		9	2025 Aug 4, 2025	SYSTEM	\$6,562.00 \$0.00 \$0.00	Estimate Item Adjustment (0016) due to user brookb6 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		TYPE A2		al		2025 Aug 4,		\$6,562.00 \$0.00 \$0.00 \$20.43	Estimate Item Adjustment (0016) due to user brookb6 overridding Payment
		TYPE A2	Material - Tota	al - Total	9	2025 Aug 4, 2025	SYSTEM	\$6,562.00 \$0.00 \$0.00	Estimate Item Adjustment (0016) due to user brookb6 overridding Payment Estimate Exception 6 on the current Payment Estimate.



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
238	0180	MISC.	Material		9	Aug 4, 2025	SYSTEM	(\$7,828.50)	
					9	Aug 4, 2025	SYSTEM	\$7,828.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user brookb6 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0180 -	Total						\$0.00	
	0330	MISC. PAVED DRAINAGE	Material		8	Jul 16, 2025	SYSTEM	(\$6,575.00)	
					8	Jul 16, 2025	SYSTEM	\$6,575.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user brookb6 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0330 -	Total						\$0.00	
	0340	TRUCK MOUNTED	Material		6	Jun 2, 2025	SYSTEM	(\$32,400.00)	
		ATTENUATOR (TMA)			6	Jun 2, 2025	SYSTEM	\$32,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user brookb6 overridding Paymen Estimate Exception 4 on the current Payment Estimate.
					7	Jun 16, 2025	SYSTEM	(\$32,400.00)	
					7	Jun 16, 2025	SYSTEM	\$32,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user brookb6 overridding Paymen Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
	0340		Material - Tota	ı				\$0.00	
		Total						\$0.00	
	0350	GRATES AND BEARING PLATES (3 FT X 3 FT)	Material		5	May 16, 2025	SYSTEM	(\$2,820.00)	
		(311 X 31 1)	S		5	May 16, 2025	SYSTEM	\$2,820.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user brookb6 overridding Paymen Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0350 -	Total						\$0.00	
	0360	CURVED VANE GRTE AND	Material		5	May 16, 2025	SYSTEM	(\$3,040.00)	
		FRAME(2 FT. X 2 FT)			5	May 16, 2025	SYSTEM	\$3,040.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user brookb6 overridding Paymer Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0360 -	Total						\$0.00	
	0390	MANHOLE FRAME AND	Material		5	May 16, 2025	SYSTEM	(\$15,600.00)	
		COVER, TYPE 3			5	May 16, 2025	SYSTEM	\$15,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user brookb6 overridding Paymer Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0390 -	Total						\$0.00	
	0400	CURB INLET	Material		5	May 16, 2025	SYSTEM	(\$3,420.00)	
					5	May 16, 2025	SYSTEM	\$3,420.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user brookb6 overridding Paymer Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0400	Total	1000					\$0.00	
	U-+UU -	ı Jiai						φυ.υυ	



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
238	0410	CONSTRUCTION SIGNS	Material	,	1	Mar 18, 2025	SYSTEM	(\$2,758.50)	
					2	Apr 2, 2025	SYSTEM	(\$2,758.50)	
					2	Apr 2, 2025	SYSTEM	\$2,758.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user kosmit1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Apr 16, 2025	SYSTEM	(\$2,758.50)	
					3	Apr 16, 2025	SYSTEM	\$2,758.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user kosmit1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	May 2, 2025	SYSTEM	(\$2,758.50)	
					4	May 2, 2025	SYSTEM	\$2,758.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user brookb6 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	May 16, 2025	SYSTEM	(\$2,758.50)	
					5	May 16, 2025	SYSTEM	\$2,758.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user brookb6 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				(\$2,758.50)	
			Material - Tota					(\$2,758.50)	
			MaterialCredit		2	Apr 2, 2025	SYSTEM	\$2,758.50	
				- Total				\$2,758.50	
			MaterialCredit	- Total				\$2,758.50	
0410 - 0430							\$0.00		
	0430	CHANNELIZER (TRIM-LINE)	Material		1	Mar 18, 2025	SYSTEM	(\$7,675.00)	
					2	Apr 2, 2025	SYSTEM	(\$7,675.00)	
					2	Apr 2, 2025	SYSTEM	\$7,675.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user kosmit1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Apr 16, 2025	SYSTEM	(\$7,675.00)	
					3	Apr 16, 2025	SYSTEM	\$7,675.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user kosmit1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	May 2, 2025	SYSTEM	(\$7,675.00)	
					4	May 2, 2025	SYSTEM	\$7,675.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user brookb6 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	May 16, 2025	SYSTEM	(\$10,175.00)	
					5	May 16, 2025	SYSTEM	\$10,175.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user brookb6 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				(\$7,675.00)	
			Material - Tota					(\$7,675.00)	
			MaterialCredit		2	Apr 2, 2025	SYSTEM	\$7,675.00	
				- Total				\$7,675.00	
			MaterialCredit	- Total				\$7,675.00	
	0430 -							\$0.00	
	0440	TYPE 3 MOVEABLE BARRICADE	Material		5	May 16, 2025		(\$750.00)	
					5	May 16, 2025	SYSTEM	\$750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user brookb6 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks							
J8S3238	0440	TYPE 3 MOVEABLE BARRICADE	Material - Tota					\$0.00								
	0440 -	Total						\$0.00								
	0450	FLASHING ARROW PANEL	Material		2	Apr 2, 2025	SYSTEM	(\$2,750.00)								
					2	Apr 2, 2025	SYSTEM	\$2,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user kosmit1 overridding Payment Estimate Exception 4 on the current Payment Estimate.							
					3	Apr 16, 2025	SYSTEM	(\$2,750.00)								
					3	Apr 16, 2025	SYSTEM	\$2,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user kosmit1 overridding Payment Estimate Exception 4 on the current Payment Estimate.							
					4	May 2, 2025	SYSTEM	(\$2,750.00)								
					4	May 2, 2025	SYSTEM	\$2,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user brookb6 overridding Payment Estimate Exception 4 on the current Payment Estimate.							
					5	May 16, 2025	SYSTEM	(\$2,750.00)								
					5	May 16, 2025	SYSTEM	\$2,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user brookb6 overridding Payment Estimate Exception 12 on the current Payment Estimate.							
				- Total				\$0.00								
			Material - Tota					\$0.00								
	0450 -	Total						\$0.00								
	0460	CHANGEABLE MESSAGE SIGN WITH	Material		1	Mar 18, 2025	SYSTEM	(\$26,400.00)								
		COMMUNICATION INTERFACE,	N									2	Apr 2, 2025	SYSTEM	(\$26,400.00)	
		CONTRACTOR FURNISHED / RETAINED							2	Apr 2, 2025	SYSTEM	\$26,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user kosmit1 overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					3	Apr 16, 2025	SYSTEM	(\$26,400.00)								
					3	Apr 16, 2025	SYSTEM	\$26,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user kosmit1 overridding Payment Estimate Exception 5 on the current Payment Estimate.							
					4	May 2, 2025	SYSTEM	(\$26,400.00)								
					4	May 2, 2025	SYSTEM	\$26,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user brookb6 overridding Payment Estimate Exception 5 on the current Payment Estimate.							
					5	May 16, 2025	SYSTEM	(\$26,400.00)								
					5	May 16, 2025	SYSTEM	\$26,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user brookb6 overridding Payment Estimate Exception 13 on the current Payment Estimate.							
				- Total				(\$26,400.00)								
			Material - Tota	ı				(\$26,400.00)								
			MaterialCredit		2	Apr 2, 2025	SYSTEM	\$26,400.00								
				- Total				\$26,400.00								
			MaterialCredit	- Total				\$26,400.00								
	0460 -						2112	\$0.00								
	0500	PAVEMENT EDGE TREATMENT	Material		3	Apr 16, 2025	SYSTEM	(\$3,815.20)								
					3	Apr 16, 2025	SYSTEM	\$3,815.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user kosmit1 overridding Payment Estimate Exception 6 on the current Payment Estimate.							
					4	May 2, 2025	SYSTEM	(\$3,815.20)								
					4	May 2, 2025	SYSTEM	\$3,815.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user brookb6 overridding Payment							



2025		Remarks
2025	STEM (\$6,304.20)	Estimate Exception 6 on the current Payment Estimate.
5 May 16, SYS	STEM \$6,304.20	This adjustment offsets the original system-generated Material Payment
2025	,,,,,	Estimate Item Adjustment (0025) due to user brookb6 overridding Payment Estimate Exception 14 on the current Payment Estimate.
- Total	\$0.00	
Material - Total	\$0.00	
0500 - Total	\$0.00	
REMOVABLE 2025 MARKING TAPE 4	STEM (\$5,032.00)	
IN., 5 May 16, 2025 SYS	STEM \$5,032.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user brookb6 overridding Payment Estimate Exception 15 on the current Payment Estimate.
- Total	\$0.00	
Material - Total	\$0.00	
0580 - Total	\$0.00	
REMOVABLE 2025	STEM (\$4,154.00)	
MARKING TAPE 5 May 16, 2025 SYS	STEM \$4,154.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user brookb6 overridding Payment Estimate Exception 16 on the current Payment Estimate.
- Total	\$0.00	
Material - Total	\$0.00	
0590 - Total	\$0.00	
0600 TEMPORARY Material 5 May 16, SYS REMOVABLE 2025 MAY 16, SYS	STEM (\$760.00)	
24 IN. 5 May 16, 2025 SYS	\$760.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user brookb6 overridding Payment Estimate Exception 17 on the current Payment Estimate.
- Total	\$0.00	
Material - Total	\$0.00	
0600 - Total	\$0.00	
0760 PRECAST CONCRETE Material 5 May 16, SYS 2025 2025	STEM (\$3,994.00)	
MANHOLE - 48 IN. 5 May 16, 2025 SYS	STEM \$3,994.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate.
MANHOLE - 48 IN. 5 May 16, SYS	\$3,994.00 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment
MANHOLE - 48 IN. 5 May 16, 2025 SYS		Estimate Item Adjustment (0029) due to user brookb6 overridding Payment
MANHOLE - 48 IN. 5 May 16, 2025 SYS	\$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment
MANHOLE - 48 IN. 5 May 16, 2025 SYS -Total	\$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment
MANHOLE - 48 IN. 5 May 16, 2025 SYS	\$0.00 \$0.00 \$0.00 \$TEM (\$2,827.50)	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$TEM (\$2,827.50) \$TEM \$2,827.50	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$TEM (\$2,827.50) \$TEM \$2,827.50	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$TEM (\$2,827.50) \$TEM \$2,827.50 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2,827.50 \$0.00 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$1.00 \$2,827.50 \$2,827.50 \$0.00 \$0.00 \$0.00 \$0.00 \$1.0	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment Estimate Exception 19 on the current Payment Estimate.
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$1.00 \$2,827.50 \$2,827.50 \$0.00 \$0.00 \$0.00 \$1.0	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$0.00 \$1.00 \$2,827.50 \$2,827.50 \$0.00 \$0.00 \$0.00 \$5.00 \$26,829.00 \$26,829.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment
MANHOLE - 48 IN. 5 May 16, 2025 SYS	\$0.00 \$0.00 \$0.00 \$0.00 \$1.00 \$2,827.50 \$2,827.50 \$0.00 \$0.00 \$0.00 \$5.00 \$26,829.00 \$26,829.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment
MANHOLE - 48 IN.	\$0.00 \$0.00 \$0.00 \$0.00 \$1.00 \$2,827.50 \$2,827.50 \$0.00 \$0.00 \$0.00 \$5.00 \$26,829.00 \$26,829.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment



t	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
8	0820	PRECAST CONCRETE DROP INLET 3 FT	Material	- Total		2025		\$0.00	Estimate Item Adjustment (0032) due to user brookb6 overridding Payment Estimate Exception 21 on the current Payment Estimate.		
		X 3 FT	Material - Tota					\$0.00			
	0820 -	Total	matorial Total	"				\$0.00			
		PRECAST CONCRETE	Material		5	May 16, 2025	SYSTEM	(\$35,200.00)			
		DROP INLET 5 FT X 3 FT			5	May 16, 2025	SYSTEM	\$35,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user brookb6 overridding Payment Estimate Exception 22 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - Tota	d				\$0.00			
	0840 -	Total						\$0.00			
	0950	ROCK DITCH CHECK	Material		2	Apr 2, 2025	SYSTEM	(\$372.50)			
					2	Apr 2, 2025	SYSTEM	\$372.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user kosmit1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		
					3	Apr 16, 2025	SYSTEM	(\$372.50)			
							3	Apr 16, 2025	SYSTEM	\$372.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user kosmit1 overridding Paymen Estimate Exception 7 on the current Payment Estimate.
								4	May 2, 2025	SYSTEM	(\$372.50)
						4	May 2, 2025	SYSTEM	\$372.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user brookb6 overridding Paymen Estimate Exception 7 on the current Payment Estimate.	
								5	May 16, 2025	SYSTEM	(\$372.50)
					5	May 16, 2025	SYSTEM	\$372.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user brookb6 overridding Paymen Estimate Exception 23 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - Tota	ıl .				\$0.00			
	0950 -	Total						\$0.00			
	0960	ALTERNATE DITCH CHECK	Material		2	Apr 2, 2025	SYSTEM	(\$6,432.00)			
					2	Apr 2, 2025	SYSTEM	\$6,432.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user kosmit1 overridding Paymen Estimate Exception 7 on the current Payment Estimate.		
					3	Apr 16, 2025	SYSTEM	(\$6,432.00)			
					3	Apr 16, 2025	SYSTEM	\$6,432.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user kosmit1 overridding Paymen Estimate Exception 8 on the current Payment Estimate.		
					4	May 2, 2025	SYSTEM	(\$6,432.00)			
					4	May 2, 2025	SYSTEM	\$6,432.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user brookb6 overridding Paymer Estimate Exception 8 on the current Payment Estimate.		
					5	May 16, 2025	SYSTEM	(\$6,432.00)			
					5	May 16, 2025	SYSTEM	\$6,432.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0035) due to user brookb6 overridding Paymer Estimate Exception 24 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - Tota	ıl				\$0.00			
	0960 -	Total						\$0.00			
	1000	SILT FENCE	Material		4	May 2, 2025	SYSTEM	(\$9,287.60)			
					4	May 2, 2025	SYSTEM	\$9,287.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user brookb6 overridding Paymer Estimate Exception 9 on the current Payment Estimate.		



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
3238	1000	SILT FENCE	Material		5	May 16, 2025	SYSTEM	(\$9,287.60)		
					5	May 16, 2025	SYSTEM	\$9,287.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0036) due to user brookb6 overridding Payment Estimate Exception 25 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	al				\$0.00		
	1000 -	Total						\$0.00		
	1010	TEMPORARY TRAFFIC SIGNALS	Material		7	Jun 16, 2025	SYSTEM	(\$30,500.00)		
		OTOTALO			7	Jun 16, 2025	SYSTEM	\$30,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user brookb6 overridding Payment Estimate Exception 12 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	al				\$0.00		
	1010 -	Total						\$0.00		
	1120	PAVED APPROACH, 8 IN.	Material		9	Aug 4, 2025	SYSTEM	(\$21,430.50)		
					9	Aug 4, 2025	SYSTEM	\$21,430.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user brookb6 overridding Payment Estimate Exception 10 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	al				\$0.00		
				Price FUEL		9	Aug 4, 2025	SYSTEM	\$20.35	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$20.35		
			Price FUEL - 1	Γotal				\$20.35		
								\$20.35		
		BASE MOUNTED CONTROL	BASE MOUNTED CONTROL STATION	Material		8	Jul 16, 2025	SYSTEM	(\$9,600.00)	
					8	Jul 16, 2025	SYSTEM	\$9,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user brookb6 overridding Payment Estimate Exception 8 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	al				\$0.00		
	1500 -				-	11 10	OVOTELL	\$0.00		
	1530	CONDUIT, 4 IN. RIGID, PUSHED	Material		5	May 16, 2025	SYSTEM	(\$7,758.50)		
					5	May 16, 2025	SYSTEM	\$7,758.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0037) due to user brookb6 overridding Payment Estimate Exception 26 on the current Payment Estimate.	
					6	Jun 2, 2025	SYSTEM	(\$7,758.50)		
					6	Jun 2, 2025	SYSTEM	\$7,758.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user brookb6 overridding Payment Estimate Exception 5 on the current Payment Estimate.	
					7	Jun 16, 2025	SYSTEM	(\$7,758.50)		
					7	Jun 16, 2025	SYSTEM	\$7,758.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user brookb6 overridding Payment Estimate Exception 5 on the current Payment Estimate.	
				- Total				\$0.00		
								\$0.00		
			Material - Tota	AII						
	1530 -	Total	Material - Tota	11				\$0.00		
	1530 -	PULL BOX, PREFORMED	Material - Total	41	6	Jun 2, 2025	SYSTEM	\$0.00 (\$4,880.00)		
		PULL BOX,		11	6		SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user brookb6 overridding Payment Estimate Exception 6 on the current Payment Estimate.	
		PULL BOX, PREFORMED		1		2025 Jun 2,		(\$4,880.00)	Estimate Item Adjustment (0016) due to user brookb6 overridding Payment	



Marcial 100	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
2005 3 Jul 16, SYSTEM S19,090.05 This adjustment offsets the original system-generated Material Payment Estimate Transport (1007) date in user brooked coentrating Payment Estimate Transport (1007) and in user brooked coentrating Payment Estimate Transport (1007) and in user brooked coentrating Payment Estimate Transport (1007) and in user brooked coentrating Payment Estimate Transport (1007) and payment Estimate Transport (1007) and payment Estimate Transport (1007) and payment payment (1007) and payment payment (1007) and payment payment (1007) and payment payment (1007) and payment (1007) and payment (1007) and payment payment (1007) and payment (1007) and payment (1007) and payment Estimate Transport (1007) and payment (1007) and p	J8S3238	1550	PREFORMED	Material		0		OVOTEM	(\$40,000,00)	
1509 Total 1509							2025		(\$10,980.00)	
1500 CALLE_2 AWG 1						8		SYSTEM	\$10,980.00	Estimate Item Adjustment (0027) due to user brookb6 overridding Payment
1500 CABLE CANDUT Malerial					- Total				\$0.00	
1500 CARLE_Z_AWG CONDUCTOR Material 6 205				Material - Tota	ıl				\$0.00	
CONDUCTOR 8 3 34 64, 8 591TEM 5910.00 This adjustment offsets the original system-generated Material Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids overarding Payment Estimate Exception (100%) due to user troopids (100%) due to		1550 -	Total						\$0.00	
1-10tal 1-10		1560		Material			2025		, ,	
1560 Total						8		SYSTEM	\$410.00	Estimate Item Adjustment (0028) due to user brookb6 overridding Payment
Total					- Total				\$0.00	
The control of the				Material - Tota	ıl				\$0.00	
1 N. 2 2025 7 Jun 16, 2025 8 Jul 16, 20		1560 -	Total						\$0.00	
7		1580	1 IN., 2	Material		7		SYSTEM	(\$11,968.00)	
2025 8			CONDUCTORS			7		SYSTEM	\$11,968.00	Estimate Item Adjustment (0015) due to user brookb6 overridding Payment
Substitute Sub						8		SYSTEM	(\$28,281.00)	
Total S0.00						8		SYSTEM	\$28,281.00	Estimate Item Adjustment (0029) due to user brookb6 overridding Payment
1580 Total					- Total				\$0.00	
1600 POLE FOUNDATION (45 FT. OR 13.5 M FT. OR 13.5 M				Material - Total					\$0.00	
POUNDATION (45 FT. OR 13.5 M FT. OR 13.5 M		1580 -	Total						\$0.00	
8		1600	FOUNDATION (45	Material		8		SYSTEM	(\$22,640.00)	
9						8		SYSTEM	\$22,640.00	Estimate Item Adjustment (0030) due to user brookb6 overridding Payment
Construction Stockpile STMI - Total S0,00 Estimate Item Adjustment (0020) due to user brookb6 overridding Payment Estimate Exception 11 on the current Payment Estimate. S0,00						9		SYSTEM	(\$22,640.00)	·
Material - Total \$0.00						9		SYSTEM	\$22,640.00	Estimate Item Adjustment (0020) due to user brookb6 overridding Payment
1710 CONTROLLER ASSEMBLY HOUSING, Material 6 Jun 2, 2025 SYSTEM (\$28,600.00)					- Total				\$0.00	
1710 CONTROLLER ASSEMBLY HOUSING,				Material - Tota	ıl				\$0.00	
ASSEMBLY		1600 -	Total						\$0.00	
August		1710	ASSEMBLY	SEMBLY		6		SYSTEM	(\$28,600.00)	
2025 7 Jun 16, 2025 828,600.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user brookb6 overridding Payment Estimate Exception 8 on the current Payment Estimate. - Total \$0.00 Material - Total \$0.00 1710 - Total \$0.00 DETECTOR, MICROWAVE MICROWAVE Construction Stockpile STMI - Total \$28,263.00 Construction Stockpile STMI - Total \$28,263.00						6		SYSTEM	\$28,600.00	Estimate Item Adjustment (0017) due to user brookb6 overridding Payment
2025 Estimate Item Adjustment (0016) due to user brookb6 overridding Payment Estimate Exception 8 on the current Payment Estimate. 1710 - Total \$0.00 1710 - Total \$0.00 1720 DETECTOR, MICROWAVE STMI - Total \$28,263.00 Construction Stockpile STMI - Total \$28,263.00 Construction Stockpile STMI - Total \$28,263.00						7		SYSTEM	(\$28,600.00)	
Material - Total 1710 - Total 1720 DETECTOR, MICROWAVE STMI - Total Construction Stockpile STMI - Total \$0.00 Payment Estimate Item Adjustment generated Stockpile Transaction \$28,263.00 \$28,263.00						7		SYSTEM	\$28,600.00	Estimate Item Adjustment (0016) due to user brookb6 overridding Payment
Total					- Total				\$0.00	
1720 DETECTOR, MICROWAVE Stockpile STMI				Material - Tota	ıl				\$0.00	
MICROWAVE Stockpile STMI - Total \$28,263.00		1710 -	Total						\$0.00	
- Total \$28,263.00 Construction Stockpile STMI - Total \$28,263.00		1720		Stockpile		7		SYSTEM	\$28,263.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				STIVII	- Total				\$28,263.00	
1720 - Total \$28,263.00				Construction	Stockpile STI	MI - Total			\$28,263.00	
		1720 -	Total						\$28,263.00	



	ine	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3 17	730	CONDUIT, 2 IN., TRENCH WITH	Material		7	Jun 16, 2025	SYSTEM	(\$191.10)	
		TRACER WIRE			7	Jun 16, 2025	SYSTEM	\$191.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user brookb6 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
17	730 -	Total						\$0.00	
17	790	POWER SUPPLY ASSEMBLY,	Material		7	Jun 16, 2025	SYSTEM	(\$9,900.00)	
		TYPE-2 WITH 120V			7	Jun 16, 2025	SYSTEM	\$9,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user brookb6 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
17	790 -	Total						\$0.00	
18	340	BASE, CONCRETE	Material		7	Jun 16, 2025	SYSTEM	(\$1,890.00)	
					7	Jun 16, 2025	SYSTEM	\$1,890.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user brookb6 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					8	Jul 16, 2025	SYSTEM	(\$1,890.00)	
					8	Jul 16, 2025	SYSTEM	\$1,890.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
18	840 - Total							\$0.00	
		MISC.	Material		7	Jun 16,	SYSTEM	(\$27,500.00)	
10:	1000		Waterial			2025		, , ,	This allows the first the size of the size
					7	Jun 16, 2025	SYSTEM	\$27,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user brookb6 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
18	350 -	Total						\$0.00	
19	1970	TUBULAR SUPPORT, TYPE C-2018-28	Construction Stockpile STMI		7	Jun 16, 2025	SYSTEM	\$1,700.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		C-2010-20	STIVII	- Total				\$1,700.00	
			Construction	Stockpile STI	MI - Total			\$1,700.00	
19	70 -	Total						\$1,700.00	
19	980	TUBULAR SUPPORT, TYPE	Construction Stockpile		7	Jun 16, 2025	SYSTEM	\$6,800.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	C-2018-34	STMI	- Total				\$6,800.00		
			Construction Stockpile STMI - Total					\$6,800.00	
1980 - Total								\$6,800.00	
		MISC. HIGHWAY	Construction Stockpile		7	Jun 16, 2025	SYSTEM	\$4,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$4,600.00	
			Construction	onstruction Stockpile STMI - Total					
1990 - Total								\$4,600.00	
20	2020	CONDUIT, 2 IN., RIGID, IN TRENCH	Material		5	May 16, 2025	SYSTEM	(\$11,884.60)	
					5	May 16, 2025	SYSTEM	\$11,884.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0039) due to user brookb6 overridding Payment Estimate Exception 27 on the current Payment Estimate.
					6	Jun 2, 2025	SYSTEM	(\$11,884.60)	



t Lii	ne Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
38 20	CONDUIT, 2 IN., RIGID, IN TRENCH	Material			2025			Estimate Item Adjustment (0018) due to user brookb6 overridding Payment Estimate Exception 8 on the current Payment Estimate.
	INLINOIT			7	Jun 16, 2025	SYSTEM	(\$11,884.60)	
				7	Jun 16, 2025	SYSTEM	\$11,884.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user brookb6 overridding Payment Estimate Exception 14 on the current Payment Estimate.
			- Total				\$0.00	
		Material - Tota	al				\$0.00	
		Overrun	Overrun	5	May 16, 2025	SYSTEM	(\$828.10)	
			Overrun - T	otal			(\$828.10)	
		Overrun - Tot	Overrun - Total					
20	20 - Total						(\$828.10)	
20	CONDUIT, 3 IN., RIGID, PUSHED	Material		5	May 16, 2025	SYSTEM	(\$8,340.00)	
				5	May 16, 2025	SYSTEM	\$8,340.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0040) due to user brookb6 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				6	Jun 2, 2025	SYSTEM	(\$8,340.00)	
				6	Jun 2, 2025	SYSTEM	\$8,340.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user brookb6 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				7	Jun 16, 2025	SYSTEM	(\$8,340.00)	
				7	Jun 16, 2025	SYSTEM	\$8,340.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user brookb6 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total					
		Material - Tota	Material - Total					
20	30 - Total						\$0.00	
20	CABLE, 4 AWG, CONDUCTOR, POWER	Material		7	Jun 16, 2025	SYSTEM	(\$10,212.80)	
	TOWER			7	Jun 16, 2025	SYSTEM	\$10,212.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user brookb6 overridding Payment Estimate Exception 16 on the current Payment Estimate.
			- Total					
		Material - Tota	al				\$0.00	
		Overrun	Overrun	7	Jun 16, 2025	SYSTEM	(\$1,242.80)	
			Overrun - Total					
		Overrun - Tot	al				(\$1,242.80)	
	40 - Total						(\$1,242.80)	
20	50 FIBER OPTIC CABLE, 24- STRAND, 18	Material		7	Jun 16, 2025	SYSTEM	(\$9,951.50)	
	SINGLE			7	Jun 16, 2025	SYSTEM	\$9,951.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user brookb6 overridding Payment Estimate Exception 17 on the current Payment Estimate.
			- Total				\$0.00	
				Material - Total				
							\$0.00	
		Material - Total	Overrun	7	Jun 16, 2025	SYSTEM	(\$2,216.50)	
		Overrun	Overrun - T			SYSTEM	(\$2,216.50) (\$2,216.50)	
			Overrun - T			SYSTEM	(\$2,216.50)	
20	50 - Total	Overrun - Tot	Overrun - T	otal	2025		(\$2,216.50) (\$2,216.50) (\$2,216.50) (\$2,216.50)	
20 20		Overrun	Overrun - T			SYSTEM	(\$2,216.50) (\$2,216.50) (\$2,216.50)	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J8S3238	2060	D60 PULL BOX, CONCRETE, STANDARD	Material		6	Jun 2, 2025	SYSTEM	(\$18,900.00)	
					6	Jun 2, 2025	SYSTEM	\$18,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user brookb6 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					7	Jun 16, 2025	SYSTEM	(\$18,900.00)	
					7	Jun 16, 2025	SYSTEM	\$18,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user brookb6 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				- Total				\$0.00	
	Material - Total							\$0.00	
	2060 -	Total						\$0.00	
J8S3238 -	Total						\$39,023.70		
Overall -	Overall - Total								

MoDOT

Contract Adjustments for Contract - 241115-G3A

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 26 of 26